1 circle in a tridecagon 2 circles in a tridecagon 3 circles in a tridecagon

@ oo

radius = 0.970941817426  density = 0.980457110348 [ Eger: radius = 0.490852350956  density = 0.501157154491 [ Eger: radius = 0.453721030612  density = 0.642304940783 [ Egwr:

ratio 1020927830950  contacts preey ratio 2.037272507815  contacts = o T ratio = 2.203997462167 contacts = o
4 circles in a tridecagon 5 circles in a tridecagon 6 circles in a tridecagon

4

radius =  0.405005077913  density = 0.682378046914 [ Eger: radius =  0.361832605105  density = 0.680812609101  §Egmr: radius = 0. 1 density = 0. gEgere

ratio =  2.469099357871  contacts = 9 o T ratio = 2.763708924766  contacts = 11 o T ratio = 3.043871901265 contacts = 13 g

7 circles in a tridecagon 8 circles in a tridecagon 9 circles in a tridecagon

0.325795415063  density = 0.772734254637  QEgwr: radius 0.295713378243  density = 0.727568889597  QEgwor: radius = 0.270713532032  density = 0,685969218499 [ £ swr:
3.069410905639  contacts = 14 Lty ratio 3.381652889506  contacts = 15 oo ratio = 3.693941682537 contacts = 17 o

N =10 N =11 N =12

10 circles in a tridecagon 11 circles in a tridecagon 12 circles in a tridecagon
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0.257507390176  density = 0.689638633874  QEgwr: radius 0.249350846232  density = 0.711306154273  QEgwr: radius = 0.242636309602  density = 0.734742257162 [ Egwc:
3.883383693637  contacts = 21 Lty ratio 4.010413500141  contacts = 19 Lty ratio = 4121394698259  contacts = 25 oo




